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Find cos 6.
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Use Fundamental Identities and/or the Complementary Angle Theofe?ft:) find the exact value of the expression. Do
not use a calcgjggor
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Use the definition or m to find the exact value of the indicated trigonometric function of the acute angle 8.
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If A denotes the area of the sector of a circle of radius r formed by the central angle 6, find the missing quantity. If
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Without graphing the function, determine its amplitude or period as requested. 5
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Find the phase shift.
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Find the exact value of the expresswn Do not use afaicui@tor
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Find the exact value of the expression.
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Establish the 1dent1ty
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Solve the triangle.
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Two sides and an angle are given. Determine whether the given information results in one triangle, two triangles, or
no triangle at all. Solve any triangle(s) that results
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35)a=7,b=5B=20°

Solve the triangle.
36)a=7,b=13,¢c=15

Find the area of the triangle. If necessary, round the answer to two decimal places
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